$500 FHEERFEVYFYYIA—KE

us-19
NO F—L4% BRRFC-R| FCYv4'-2 | BAFC | KEFFC-A| 70A k7| FCEEME | M| & | & | s [8a| x| Bxz| B
[ ) [ [ ) O @)
V| BREFC-R| wx | T ol T Ll Zogls 2ol 2 ol2]3|0]8]7|186 4
b @) O [ O @)
2| FCHUH =R |, 2 ol %% |, 2 olo 2 olia = ola = ol 4]1]0]12]22|2]| 20| 2
n @) o o O @)
S| BEAFC |, T 1o Zoal *% o Zqols = ol2 = ol 3200 |12|14 2| 3
4*§-’EFC'A8(—302(—3010(—)0 Yo e 15(_)011(_)050015460461
. = [ ) [ [ J o [
sSLTWA 9T L0 T ol Zolo = slo — 15| K% o = a|0]5[0]0|0]43|43| 6
o o [ J o O
of FCEEMH |, Z |0 Z 4lo = 2lo —11la = ol %% [1]4]0]3|3]18|15] 5
U8_19 9 ﬁ 8 E (i) ﬂﬁﬁ"ﬁ"]‘—'“?"*ﬁ‘f 10_5_10
NO| FuiAT ¥ E2 UV = 7 TE | BIF | BB
1| 13:45 BAXFC-R 1 — 2 FEHFC R O| OMhG | R
2| 14:15 KXEFFC-A 15 — 0 TR NS e | BRR | B
3| 14:45 FCREHH 0o — 1 BREEFC-R | XEF| iy | #ESR
4 15:15 BAFC 0 — 10 KXEFFC-A oWk | B | BRE
5 15:45 MR INES 0o — 3 FCHEHH BRE| @AY | KEF
No| FuHAT ¥ &2 UV = 7 IE | BIE | BIF
1| 13:45 B REFC-R 0o — 3 FCHv4'-2 B | UMby | A
2| 14:15 BAFC 8 — 0 TR NS YUr-2| BRE | $v5-2
3| 14:45 FCHv4'-2 4 — 0 FCREHA BRE| @S | MW
4 15:15 ThA IWE5 0 — 5 $EREFCR g A (A
5 15:45 FOREHA 0 — 2 BmAFC Y- M | BRE
Us-19 9 R 16 A (H) GBI 10—5—10
no| FuoAT ¥ &2 UV = 7 IE | BIE | BIF
1| 10:00 ThA IWE5 0 — 12 FCHv4'-2 B | KEF | &l
2| 10:30 XEFFC-A |11 — 0 FCHBEAHN YT | BUE-R | UE -2
3| 11:45 FCHY4' -2 0 — 2 KXEFFC-A A [ oubs | BEAN
us-19 9 B 23 A (H) BEa/NER 10—5—10
No| FuiAT ¥ & UV = 7 IE | BIFE | BIF
1| 10:00 B RHEFC-R 0o — 8 KEFFC-A wmE | B | a2
2| 10:30 BEAFC 0o — 3 FCHY4'-Z PRER | BRRER | B




